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<944 1> (A59 BHY 29) & YF U+ F(copper) ¥ &FY ZAZ(IS: ppm) 24
NE Yehhe zgolt

220 220 240 240 250 270 280 290 303 303 310 337 340 340 340 30
360 370 370 370 370 377 528 2BH

o] A7) tisle] YL W3la t}AdF 71&%5 A 2Hdescriptive statistic) 52 7319 HA}

(Zo]) RAA FHFste A8E RINE AR A (data object)2tn gk AE AR o= A (vector), FE
(matrix), wl¥(array), Z2E(ist), HolelX#Hd(data frame), BFE A E(factor), AALE A E(time
series) ¥ 7 77} Ak RAA AFshe Aa4H9] 712 Wil

> # dlojele] 9

> copper=c(2.20, 2.20, 2.40, 2.40, 250, 2.70, 2.80, 2.90, 3.03, 3.03, 3.10, 3.37,
+ 340, 340, 3.40, 350, 360, 3.70, 3.70, 3.70, 3.70, 3.77, 5.28, 28.%)

> copper

(11 220 220 240 240 250 270 28 290 303 303 310 337
{13] 340 340 340 350 360 370 370 370 370 377 528 B%
> # dlo|E 9] A%

> length{copper)

(1324

> # copperd] % B(sort)

> sort(copper)

(11 220 220 240 240 250 270 280 29 303 303 310 337
[13] 340 340 340 350 360 370 370 370 370 377 528 8%
> sort{copper, decreasing=T)

112895 528 377 370 370 370 370 360 350 340 340 340
{131 337 310 303 303 290 28 270 250 240 240 220 220
> # table

> table(copper)
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copper

22 24 25 27 28 29 303 31 337

2 2 1 1 1 1 2 1
> # (coppere] d&t FXH &)
>H g
> surn(copper)
(1] 10273
> # ¥ ¥ cumnulative sum)
> cumsurn{copper)

34 35 36 37 377 528 BH

3 1 1 4 1 i 1

1] 220 440 680 920 1170 1440 1720 2010 2313 2616
(11} 2926 3263 36.03 3943 4283 4633 4993 5363 57.33 61.03

[21] 6473 6850 7378 102.73

> # dedd

> mean(copper)

(1] 4.280417

> sum(copper)/length(copper)
(1] 4280417

> #F9%

> median(copper)

(11 3385

> # 10% AAHEF

> mean{copper,trim=1/10)
(1] 3.205

> # B4

> var(copper)

{1] 28.06240

> sum({(copper-mean(copper))"2)/(length(copper)-1)
(1] 28.06240

> # EFEBR

> sd(copper)

{11 5.2973%

> sqrt(var(copper))

[1] 5.2973%

> # dAlea 89
> # (2, A AEAT, 9% A AEYT, Hd
&)
> fivenum(copper)
[1] 2200 2750 338 3.700 28.950
> # teat Qo 25
> quantile{copper)
0% 2% 0% B% 100%
2200 27h 338 3700 28950
># FAAZE QoML ok Aledd)
> summary{copper)
Min. Ist Qu. Median Mean 3rd Qu.  Max.
2200 2775 338 4280 3700 28950
> # ARAFE A=A 3AEAS - A A A
> IQR(copper)
[1] 0925
> # MAD(Median Absolute Deviation):
> # Z deolHdA F4@E @ F Hdgs
> # A gEY T4
> mad(copper)
[1] 0526323
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> median(abs(copper-median(copper)))*1.4826
{11 0526323

ol

o

> # 89

# RN WS E2AY Hagd Aupe 299

> # Hdgk > range(copper)

> max{copper) (1] 220 8%

(1) 28% > RANGE=max(copper)-min{copper)
> # Hag > RANGE

> min(copper) [1] 26.75

1} 22

<dA 2> (A5 A 29) FTnEARA] FFF 2006 APAE BH B ogFHA 7
Aol A ozpule-E B b3 2o (29 %)

18,7, 24, 8, 59, 99, 74, 51, 66, 17, 99, 12, 20, 42, 98, 100, 33, 97, 97, 53

(@) EFRLEE TEL o 0|43}y 3|2EaWL 18l
(b) E719 o 2¥& a8

(o)) (a) EFETEY 19 gLste 3 2ETY 181 AUEFIAEIRS TR Y e B

> #(ETEEH)

> # AR89 94

> prop.woman=c(18, 7, 24, 8, 59, 99, 74, 51, 66, 17, 99, 12, 20, 42, 98, 100, 33, 97, 97, 53)
> prop.woman

(11 18 7 24 859 99 74 51 66 17 99 12 20 42 9B 100 33 97 97
(200 53

> # Age AT

> n=length(prop.woman)

>n

{1120

> #5709 ARLE 7]

> cat.job=cut(prop.woman, breaks=c(0, 20, 40, 60, 80, 100))

> cat.job

(1] (0200 (0201 (2040] (0201 (40,601 (80,100] (60.80] (40,60]

[9) (60,80} (0,201 (80,1001 (0201 (0,201 (40,601 (80,100] (80,100]
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(17] (20,40] (80,100] (80,100} (40,60)
Levels: (0,20] (20,40] (40,601 (60,80] (80,100]
># ETEEHE
> table(cat.job)
cat.job
020) (20,401 (40,601 (60,80] (80,100]
6 2 4 2 6
> levels(cat.job)=c("0-20%", "20-40%", "40-60%", "60-80%", "80-100%")
> table(cat.job)
cat.job
0-20% 20-40% 40-60% 60-80% 80-100%
6 2 4 2 6
> # xFd Ag7t FAHE J2EaY

205

> hist{prop.woman, breaks=c(0, 20, 40, 60, 80, 100), main="cdAJ¢] u}&o] )3 S| AETA" xlab="d4 9] H]&")

> rug(jitter(prop.woman))

> # AU eI AEY

> hist(prop.woman, breaks=c(0, 20, 40, 60, 80, 100), probability=T,

+ main="e]4 9] v &o] R YHEF3AED" xlab="cj 4 ¢] H]-§")
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b) £71% o 29e 299 u&H 2o

> # Z&719 o 1¢
> stem(prop.woman)

The decimal point is 1 digit(s) to the right of the |
0| 78278

21043

412139

6164

8 | 7789

1010

<q4A 3> (o]AEX) RilM = 5A FER T 3t olFol I 2 o]Fo W3 9RHargument)
7b Atk 7 BEEXY olF ol EAT A At YEUE EA & AdsA Eid density
(3523 <4) p: probability(FH&E), g quantile(FH ), r: random(&Ed4)).

Jim

1 LF AL F 6097 23 WEOIFT 3% 309 WE APALE ZASHAS W FEES
Xg g72402 A% A% AR $a89 X & ol$RE B30OE olEn

o 93 WEHYH 28 Fad BA 3, 10, ;G S 247 Fao] n e B,

> # BEAY ># 2%

> factorial(3) > choose(3,1)

(116 {13 3

> factorial(100) > factorial(3)/(factorial(2)*factorial(1))

[1] 9.332622e+157 (113

o OIEX B3O FEREIE THUE, FSUHBEUS Fe ABT guic gepdt) 52

T3} o] Tato] ®al

> # o]ZE-X B306)9AY SEAFFS: > X
> x=¢(0,1,2,3) o123
> p.x=dbinom(0:3 size=3,prob=0.6) > px
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[1] 0.064 0.288 0.432 0.216
> dbinom(0:3,3,0.6)
{1] 0.064 0.288 0.432 0.216
> # o|FEEE BB06)
> names(p.x)=c("0","1","2""3")
> pX
0 1 2 3
0.064 0.283 0432 0.216
> # o|FEX B(306)o14 9 ogAS
> choose(30:3)
111331
> # o]FR X B(306)A49 FEAFIS
> choose(3,0:3)%(0.6)(0:3)+(1-0.6)"(3:0)
{1} 0.064 0.288 0432 0.216
> dbinom(0:3,3,0.6)
[1] 0.064 0.288 0.432 0.216
> # o]3EX B(306)9149) Pr{X<=2]
> pbinom(2,3,0.6)
[1] 0.784
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> sum(dbinom(0:2,3,0.6))
[1] 0.784
> # o|&EE B(306)0149] Pr{X=2]
> dbinom(2,3,0.6)
{11 0432
> pbinom(2,3,0.6)-pbinom(1,3,0.6)
(1] 0432
> # SJFEXE BBR06AMY FHEEHST
> # (cumulative distribution function) Pr{X<=x]
> cdf x=pbinom(x,3,06)
> names(cdf.x)=c("0","1","2","3")
> cdfx
0 1 2 3
0.064 0.352 0.784 1.000
> # o3 B(306)0149] v 550
> samplel=rbinom(5,3,0.6)
> samplel
mziz212

o o|AET BE06)A e FFa BAE ot BAl £3 o3 ¥ BEO6)NA EE WS 10000712
Bolg s g Al wojrt GabAth) o] 1000078 o]F= BXJ} o]FEYE B(306)E W
£ A glste Bzl o] 10000742 o|F= BX s Eilo] o3 ¥ B(E6)AAY HFH

B o} $AH8E ¢ 4 ek o] 1000742 o]

FE £¥E ddagze Je & 5 Utk oy

X BE06)IA S BEEFTret vlastd fAlekd weze ¢ F Aok

> # o|3E-E BG06)NAY HE 3+06-18,
> ¢ BAF 3x0.6+0.4=0.72

> ex=sum(x*px)

> ex

{1118

> varx=sum{(x-e.X)"2*px)

> varx

(1] 0.72

> sample2=rbinom(10000,3,0.6)

> mean(sample2)

[11 1.7996

> var(sample2)
[1] 0.7187117

> table(sample2)

sample2
0 1 2 3
628 2912 429 2164

> barplot(table(sample2), main="10,000712]
g 93 e
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4000
}

o O[FYEY B(306)9 FHEXEFSF PrX<=x]& 12HY th&F 2} plot F5olM type="h'd F2 o
2 agghe AL type="s'# #& T duitt £ 3 F O gfd £HLE stk Aol

> # o|3EE B(306)%} FHEEES PriX<=x] > title("Binomial density”)

> par(mfrow=c(1,2)) > z=pbinom(x,3,0.6)

> x=-14 > plot(x,z,type="s" xlab="x" ylab="F(x)" ylim=c(0,1.0))
> y=dbinom(x,3,0.6) > title("Binomial CDF")

> plot(x,y,type="h" xlab="x" ylab="{(x)",ylim=c(0,1.0))

Binomial density Binomial COF
< __‘ o
<« _| o |
s =3
= | <« _|
=3 o
2 &
= | = |
=3 S
S - S
< <
=3 (=3
T T T T T T T T T
40 1 2 3 4 10 1 2 3 a4
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2§34 1008 BAE AP o|FELLE o] &3] APsfo] B ToJd I, (ojd HAdolrt T4
9 gdo] U BES ot BE APEAI AAEA 05¢) grhte € & Ao

> # FAYEA7)

> rhinom(100,1,0.5)
f10100001111110010011010011010101011101
[38]1110110001011110111110010001000101010
(75101001011101011101101010100

> # BAe gde] U B

> n=length(rbinom(100,1,0.5))

> cumsum(rbinom(100,1,0.5)/n)
{11 0.00 0.01 0.01 0.01 0.02 0.02 0.02 0.02 0.03 0.04 0.05 0.06 0.06 0.07 0.07

{16) 0.07 0.08 0.08 0.08 0.08 0.09 0.10 0.1 0.12 0.13 0.14 0.15 0.15 0.15 0.16

[31] 0.16 0.17 0.18 0.18 0.19 0.19 0.19 0.19 0.20 0.20 020 021 0.21 0.22 0.22

(46] 0.22 0.23 0.23 0.23 0.24 0.24 025 0.25 0.25 0.25 0.26 027 0.28 0.29 0.30

{611 0.30 0.30 0.30 0.31 0.31 0.32 0.33 0.34 0.35 0.36 0.37 0.38 0.39 0.39 0.39

{761 040 041 0.41 0.41 042 0.42 0.43 044 0.44 0.45 0.46 046 0.46 0.46 047

{91] 0.48 0.48 0.49 0.49 050 0.50 0.50 0.51 0.51 0.52

3. AR 10013 HFE p=0.3, 0.5, 0.7%9 W o]FLEL Wld) fjajo] Lol A

4 AT E2 Wl W olFRT W3 > y2=dbinom(x,10,0.5)
> par(mfrow=c(1,3)) > plot(x,y2,type="h" xlab="x" ylab="f(x)",ylim=c(0,0.3)}
> x=c(0:10) > title("p=0.5")
> yl=dbinom(x,10,0.3) > y3=dbinom(x,10,0.7)

> plot(x,y1,type="h" xlab="x" ylab="{(x)",ylim=c(0,0.3)) > plot(x,y3,type="h" xlab="x",ylab="f(x)",ylim=c(0,0.3))
> title("p=0.3") > title("p=0.7")
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Pp~0.3 p=0.5 p~0.7
8 4 & & 4
g g g
5 9 .
5 5 5
g £+ g £ g EA
e e °
ST S s 7]
g ‘4 Z
g

3_1 | i s . |’ ‘ | g | || |

E E E
———
o 2 - 6 -] 10 a 2 4 -1 a 10 o 2 a & -] 10

4. od AzGAAAE & FR 5709 AFS Jolgerh AAER HAE AFPste d° PR 4
Ne AYSHA Fol AFS AR F EFEY 71471 g1 9 o] A& FAAAGz @}

(a) 9 E3F9 /57t 570 3 574 9 RS 38 FES Tt

b 9 EFFY A B4 F r0<r<25)4Y f FAY F5L 2Yog 17 Holg

(£ (@

> # 27| E(EFENG=5FFMF=20 22 5=4)
> accept.box=dhyper(0,5,20,4)

> accept.box

[1} 0.3830040

(b)

> ¥ 2SR E(ESENSr, FENS=051, AN > accept=cbind(r,accept.box.r)

=4) > accept
> par(mfrow=c(1,1)) T accept.box.r
> r=c(0:25) (1] 0 1.000000e+00

> accept.box.r=dhyper(0,r,25-r,4) [2] 1 8.400000e~01



(3] 2 7.000000e—01
[4] 3 578260901
(5] 4 4731225-01
[6] 5 3.830040e-01
[7] 6 3.064032-01
[8] 7 2.418972-01
(9] 8 1.881423¢-01
[10] 9 1.438735¢-01
[11,) 10 1.079051e-01
(12 11 7.913043e-02
[13) 12 5.652174e-02
[14] 13 3.913043e-02
[15]) 14 2.608696e-02

<dgA £ (AFEY)

BAT %

04
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[16,] 15 1.660079¢-02
[17,] 16 9.960474e-03
(18] 17 5533597e-03
[19,] 18 2.766798e—03
[20,] 19 1.185771e-03
[21,) 20 3.952569%¢-04
[22,] 21 7905138e-05
[23.] 22 0.000000e+00
[24,] 23 0.000000e+00
(25,] 24 0.000000e+00
[26,] 25 0.000000e+00
> plot(r,accept.box.r,xlab="8 FEN 4" ylab="Z A & &

&)

Q2
S I

00
i

°
®P 000000000

T T T T T

5 10 15 20 25

BIENT

L@ Z~N0, )9 o Prl-1<Z<1], Prl-2<Z< 2], Pr[-3< Z<3]g& &7 st
(b) BFo] 30| EFHAT}L 291 AFEEE 28k

(Eo)) (@) Prl-1<2<1]=0.683, Pr[-2<2<2]=00954, Pr{-3< Z< 3}=0.997
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> # RERATERAAY &g F3P
> pnorm(1)-pnorm(-1)

[1] 0.6826895

> pnorm(2)-pnorm(-2)

(1] 0.9544997

> pnorm(3)-pnorm(-3)

(1] 0.9973002

() Bl 3oln EEUAE 22 ATREE 290 83t 20}

> # B@o] 3013 FFAA} 29 ATEX

> nmean=3;n.sd=2

> x=seq(n.mean-6*n.sd,n.mean+6*n.sd length=200)
> y=dnorm(x=x,mean=3,sd=2)

Normal density N(3,22)

020

015

fixy
0.10

005

> plot(x,y,type="1",ylab="{(x)",main="Normal density N(32°2)")

2. @ Z~N0,1)9 4 Pr[Z< z]=09950975099,095,09¢ z& ZZ F3at
(b) o] 30| EZHA/} 291 AFRE X~ N3,22)oH PriX < z]=0975% & T3}

o)) (a) z2& 74z 258, 196, 2.33, 1.645, 1.2827} €t
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b) PrixX < z]=Pr[—X2‘—3 < ””T‘?’]=H»[Zs “353]:0.975, S ZZ3 196 2=692

2
> # BEATEEANAMY 99 (quantile) [1] 1.644854
> gnorm(0.9%5) > qnorm(0.9)
[1] 2575829 (1] 1.281552
> gnorm(0.975) > # ATFELAMY B9
(1] 1.959%64 > gnorm{p=0.975,mean=3,s5d=2)
> qnorm(0.99) [1] 6.919928
{11 2.326348 > qnorm(0.975,3,2)
> gnorm(0.95) (1] 6919928

3. (o]FEE BFTAD X~ B(15,04 )00 A
(@) PriX=6]g T3t o] FEL o|FLEY AFIALE 043l T3}eh
(b) Pri8 < X <10]& T3} o] FES o|FEEY FF2AE ol &3ta] Tzt

(Zo]) (@ X~ B(1504)04 pu=np=15%X06=6 o*=npg=15%x04%X06=36,
o= 36=1897, Pr(X=6]=Pr[X < 6]— PrlX < 5] =0.610—0.403 = 0.207
o] &g o|IE¥ Y AFIAE o] 48 T}

L _ 55—6 _X—6 _ 65—6
Pr[X=6]= Pr(5.5< X< 6.5]=Pr 1897 = 1.8973 L.867

= Pr[—0.26 < Z< 0.26)= Pr[Z < 0.26] — Pr|Z <—0.26] =— 0.6026 — 0.3974 = 0.2052

(b) Pri8 < X < 10]= Pr(X < 10] = Pr[X < 7] = 0.991 — 0.787 = 0.204
o] $EE o|FELY HFTALE o]83lo TF3H

= - __[75-6 _ X—6 _ 105-6
Prl8 < X< 10]=Pr[X < 10]=Pr[7.5 < X < 10.5] ——Pr[ 25T =TT S 1897
= Pr(0.79 < Z < 2.37] = Pr[Z < 2.37] - Pr[Z < 0.79] = 0.991 — 0.7852 = 0.2059

> # oJFEXY FFIA > # Pri8<=X<=10]

> # Pr[X=6] > pbinom(10,15,0.4)~pbinom(7,15,0.4)
> pbinom(6,15,0.4)-pbinom(5,15,0.4) [1] 0.2037555

[1] 0.2065976 > pnorm(2.37)-pnorm(0.79)

> pnorm(0.26)-pnorm(-0.26) [1] 0.2068698

(1] 0.2051362
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4 (a) BFAFEE Z~ N0,1)H BEISFES 57) Boae
(b) HTo| 30l EFHAI} 29 AFEE X~ N(3,22) oA &8I45E 57) BoAQ

Eo]) oAbt A7) (pseudo-random number generator)E ©] &% writt BE4E g

> # FERAFRIRAEYH 5709 U5 23 > morm{n=5mean=3,sd=2)

> morm(5) [1] 2734831 2.874476 4.425200 3.261234 4.933814
(1] 25178708 0.7331323 0.8809315 0.3972354 0.5009881 > morm(5,3,2)

> # AMRIZEE 579 3¢ 33 {1] 2.210338 2.716910 2.367497 1.895204 3.279857

<A 5> (ERZZEY) 1 () FFo| 30]1 BZHA} 29 AFEE X~N(3,22) oA B8d4S
N8 ol FEHFL Fate} o)A FAL 508 AP £ FRYF EXE 2ETYo2 17,
2018 ok & Ql)?

(b) o] 30]1 EEHA7} 29 HAFEE X~ N(3,2%)oA] BEU4E /)8 Yo} ¥
2 o] HAL 5008 AP T FERYEA BYE F2ETP0F 18 FAL ¢

24 7

2
% Sl

(Zo]) (a) HFo| 30| EZHAI} 29 AFEE X~N(3,20)0lA BEI4E 1S Yol BEHFS
Tahe #4E S00d AYE F BEATY FXE SAEIYeR 2FW dEd 2o o]@Hezs
E2AFY 7ldgke] B(X)=p=30lx ELYFY EFA} Var(X) = \/_ qu] o]
of shut F 7l SAF G} ohlolA 29705 098571 Uttt SAE2RT o] 2 YL H
Fol 3ol FFHAI} 19 AFETo|T) FEHHY 2¥7} Ho] Joln FEHAIL 1 Zéﬁrsrj}
2 ¢ £ 9ok

>#(REYH £¥) > mean(r.mean)

> # HFo] 3oln FFHA} 290 AFEEA {11 297032

> # HE A7) 49 FEEES 5008 737 > var(r.mean)

> r.mean=rep(0,500);r.var=rep(0,500) (1] 097072

> for(i in seq(500)) { > sd(r.mean)

+ r=morm(n=4,mean=3,5d=2) (1] 09852513

+ rmeanli]=mean(r);r.varli]=var(r) >4 FERAY BX

+} > hist(r.mean,prob=TRUE,main="distribution of

> # FRYFY Zuga BA sample mean”,xlab="sample mean”)



25 258%n 8 R $A9Y Z5M9 R FAATAS E8(1) 215

> x1=seq(min(r.mean),max(r.mean),length=200) > lines(xL,yl)
> yl=dnorm{x=x1,mean=3,;d=1)

distribution of sample mean
<7 /

71_

Density

semple mean

(b)) HFo] 30)m FZWAV} 290 AFET X~N(3,22)olA BEUSFE 4)E Bol TEEAN
(X, — X
i=1

n—1
&3 2} o|2HoRE HRYFY o] E(S?) =0 =47} Hojo} shu FEUS} gAG Y&
7} ofol A 39470] ysitl FEEAS B¥7) ]9 Q8F o2 X9 (skewed to the right) ¥X7} ¥
& ¢4 da

5= € Tie AFE 009 AN F FEENY £EE sJ2EaeE a8 o

> # FREA Jldigha B4 [1] 3946906

> mean(r.var) > var(r.var)

[11 3.946905 (1] 11.81561

> var(r.var) ># FEEAY BE

(1] 11.81551 > hist(r.var,prob=TRUE,main="distribution of
> # BEEAS J)digta #4F sample variance” xlab="sample variance”)

> mean(r.var)



Density

2. (5o ¥2) mhgo] 242t FEEY FRATEY ASEE YolERTA o fjd9

e 2oade Sa naja

(Z°))

> # U ¥y

> law.large.number=

+ function(n)

+{

+ win.graph()

+ par{oma=c(0,0,50))

+ par(mfrow=c(2,2))

+ x1=runif(n)

+ xbarl=cumsum(x1)/1:n

+ plot(xbarl,ylab=expression(bar(x))
type="1",main="1(0,1)")

+ abline(0.5, 0)

+ x2=rnorm{n)

+ xbar2=cumsum(x2)/1:n

+ plot(xbar2,ylab=expression(bar(x))
Jtype="1",main="N(0,1)")

o

0
0

O

distribution of sample varlance

T T 1
15 20 25

sample varance

+ abline(0, 0)

+ x3=rexp(n,1)

+ xbar3=cumsum(x3)/L:n

+ plot(xbar3,ylab=expression({bar(x))
Ltype="1" main="exp(1)")

+ abline(1, 0)

+ x4=rpois(n,1)

+ xbard=cumsum(x4)/1:n

+ plot(xbar4,ylab=expression(bar(x))
Stype="1" main="Poisson(1)")

+ abline(l, 0)

k]

o] 43

+ mtext("tH5¢} ¥ 2" side=3 outer=T,cex=15)

+ par(mfrow=c(1,1))
+}
> law.large.number(1000)
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A -
4] Y5
U(0,1} N{0,1)
A
o 2_
[t g: 1= q:
8] "]
o
7 o
E T T T T T T °h T T T T T
0 200 400 600 800 1000 0 200 400 600 800 1000
index index
exp(t) Poisson{1)
Qe
- ™~
o J
o w |
= 7 L]
~ o {4
2 e @ |
T T T T T T ° 9 T T T T T
0 200 400 600 800 1000 0 200 400 &00 800 1000

index index

(Bo]) 2URo] FFEE f(r)=10 <z < )Y 4 023 2ol U384} 49ee 24
& $oo B & gtk B2 371} Aigel e 43 EERT R AFLIN 92 ¢ 4 9
7 %7052 FHoz ¥W 4L ¢ + A

> # FATVAY-ZFEE * {

> par{oma=c(0,05,0)) + xbarljl <- sum(runif(nt[il,a,b)}/nt{i}

> par(mfrow=c(2,2)) + }

> central. Uniform<- + hist(xbar,main=paste("Sample
+ function(a,b) size=",nt{i)),xlim=c(0,1))

+{ + }

+ nt <~ ¢(5, 15, 30, 100} + mtext("% 4 584 2] -Uniform
+ xbar <- rep(0,500) dist.”,side=3 outer=T,cex=1.5)
+ for(i in 1:4) +}

+ { > central. Uniform(0,1)

+ for(j in 1:500)
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=4l 25 2f-Uniform dist.

Sample cize=5 Sampie gize= 16
8 2
- B ~ 8
2 g -
w o 8
]
o (=]
{ T T T T 1 I T T T T 1
oo 02 04 06 08 1.0 00 062 04 06 08 10
xbar xbar
Sample size=30 Sample size= 100
g
2
8
oy > ©
£ g e
'S 8 'S
R
o o
f T T T T 1 ) T T T T 1
oo 02 04 06 08 1.0 00 02 0.4 06 08 10

xbar xbar

4 ®Elgo] p=0.3% Yol BYVAN E2e] 212 1004F Bob Ashe 442 21 U= A9
A4E D E2WES Ta2 o/ HWE 508 APY F ERvge] BEE daEadez a9
% Pae ¢ &

(Fol) 2rlgo] p=03Q Yoo} BN Fie 278 10042 Lol Yabe £4¢ 231 Y= A
o9 A%E AL BEHES FoE HHL 004 AW F EEu|ge] PEE H2Eades 1w

-

O3 2o ogHez: RRHEY Jdgel E(p)=p=03cn E2¥gd EIZUI
sd(p)= (/2L = ,/% ~ 0.04580] Hojo} sju} BEWETF SAF Wb ohyolA] 030029}

004747} Uttt 3| 2By Zo] a2 1YL Ho] 0301 EFHAV} 004582 AFEE &
Holgo] 237} HFo] 030]2 EFHAI) 004589 AFEEI} €8 & & dok

> # (BEYgY £¥) > r.mean=rep(0,500);r.var=rep(0,500)
> # AFE p=032 ZFGNA > for(i in seq(500))

> # B9 37|17 1009 BEEEE 5008 F317] +{
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+ r=rbinom(n=100,1,0.3) ># FEHEY BY

+ r.mean[i]=mean(r) > h=hist(r.mean,plot=F)

+} >

> # REuEY Jdan 24 ylim=range(0,h$density,dnorm(0.3,mean=0.3,sd=0.0458))
> mean(r.mean) > hist(r.mean,prob=TRUE ylim=ylim

[1] 0.30022 ;main="distribution of sample proportion” x}ab="sample
> var(r.mean) proportion”)

[1] 0.002249851 > x1=seq(min{r.mean),max(r.mean),length=200)

> sd(r.mean) > yl=dnorm(x=x1,mean=0.3,5d=0.0458)

(1] 0.0474326 > lines(xL,yl)

distribution of sample proportion

T

Density

e —

f T T T T T T 1
015 020 025 030 035 040 045 050

sample praportion

H

<A 6> (F234) 1 e A2 0% date] AL Fol] 98 B 3% 44 ¥ ¢
99 ZAE ghol,

tlo
H

60,40,50,30,60,50,90,30,60,60,60,80,90,90,60,30,20,120,60,50,20,60,30,120,50,30,90,20,30,40,50,40,30,40,20,30,60,50,60,80

& 72 FTAY &4 FE Gl dF 5% A 7E T

(Fo) B9 2717k holol HERo|DE e ol AFLES ol 88 B% NP7 Fau
(4554, 61.46)°]t}.
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> # BRT e FHWERY 39) + c(xbar-z.alpha half*se xbar+z.alpha half*se)

> one.sample.z.confidence.interval=function(x, +}

confidence.level) >

+{ x=¢(60,40,50,30,60,50,90,30,60,60,60,80,90,90,60,30,20,120,6
+ n=length(x) 050

+ Xbar=mean(x) +,20,60,30,120,50,30,90,20,30,40,50,40,30,40,20,30,60,50,60,8
+ se=sd(x)/sqrt(n) 0)

+ alpha.half=(1-confidence level)/2 > one.sample.z.confidence.interval(x,0.95)

+ z.alpha half=qnorm(1-alpha half) [1] 4554323 61.45677

ol-&& %% TS thEFH 2ol FIH (45629, 61710tk A ERE o8 Al
o

> ttest(x)
One Sample t-test
data: x
t = 13.1785, df = 39, p-value = 6.03%-16
alternative hypothesis' true mean is not equal to 0
95 percent confidence interval:
45.28858 61.71142
sample estimates:

mean of x
535

2B dE %% AATFEHE Fge AL o]HF TS 1007 TS W oo A3
o] ERFE ¥} 5/ A FLE 2YF S XA Feve dujod. fEle tid 2L A
FeoldE B3t ATEXE ol 8Y EHTo i B% N7 u|E H4@ F gl 2wl
Bdo] 0oln EFBATL 1Y AR dol & o) 29 A7)7t 5074 AT} AFE 500077
A grEolEn JAgThe] EYE 0& THE v &S AN HY of I8 2ol B%e) THY

9% 90

> confidence.normal <- + trial <- rep(l,nz)
+ function(n, nz, mu, std) + zval <- qnorm(0.975)
+{ +  x <-matrix(morm(n*nz, mu, std), nrow=nz)

+  wingraph() +  xbar <- apply(x,1,mean)
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xvar <- apply(x,1,var)

limit <- zval * sqrt(xvar/n)
xbar <- xbar - mu
triallabs(xbar) > limit] <- 0
trial <- cumsum(trial)/ I'nz
plot(trial,ylim=c(0.9,1),type="1"

Xlab="21g 139} A" ylab="RHT L EF3}= H &
")

+  abline(0.95, 0)

+}

> confidence.normal(50,5000,0,1)

100
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0 1000 2000 3000 4000 5000
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°]
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+ 183 Zo] B%ol FEEES dF ¢ + Aok

> confidence.normal2 <-
+ function(n, nz, mu, std)

+ o

win.graph()

par(mfrow=c(2,1))

trial <- rep(1,nz)

zval <~ gnorm{0.975)

x <-matrix(morm(n*nz, muy, std), nrow=nz)
xbar <- apply(x,1,mean)

xvar <- apply(x,1,var)

limit <- zval * sqrt{xvar/n)

KA
XX
=)

& ol EH T U3 %% V7T orlE
REAA} 1A Atzdelst & o Asi7iie
EFae A9 g I H&E Ase] B o

+  ulimit=xbar-+limit

+  limit=xbar-limit

+  xXbar <- xbar - mu

+  triallabs(xbar) > limit] <- 0

+  trial <- cumsum(trial)/ 1'nz

+

plot(c{0,nz),c(~1.5,1.5),type="n" xlab="index",ylab="Confi
dence Interval”)

+ for (k in lnz){

+  points{clkk),cUlimit{k],ulimit(k}),type="1")
+ )
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+  abline(0, 0) +  par(mfrow=c(1,1))

+  plot(trial type="1"} +}

+  abline(0.95, 0) > confidence.normal2(50,100,0,1)

7] 5]

HES LT T 5]

§ 2 =27

8 ] 3] A
(4] 20 40 60 80 100 ° (l) 2‘0 4‘0 6‘0 ;0 1(‘)0

index index

2. 324 SWHATEER 7H3E)E 139 d& 2AShY d&3 st
886 864 872 &4 82 86 868 8.1 84 83 &4 86 871
S0t 2yl g B% AFHE 73

(Fo]) EEY 37171 13/40]0]H 2B Ro|EZ FEE 0|48 B% AT tE3t Zo] 3
(86.71, 8761)°Itt.

> # 2R dF FIFH (AR FY)
> x=c(88.6,86.4,87.2,88.4,87.2,87.6,86.8,86.1,87.4,87.3,86.4,86.687.1)
> titest(x)
One Sample t-test
data: x
t = 4234101, df = 12, p-value < 2.2¢-16
alternative hypothesis: true mean is not equal to 0
95 percent confidence interval:
86.71302 8761006
sample estimates:

mean of x
87.16154

3 o Ao AYEL 2] Sfskel 10009¢ ALK 1550] ARl A,
2AYE U %% ATHE Fahh
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o]

(Fo]) 29 3717} 1000740014 R Eolm2 th33} Fol FFEXE o] 88 %% A71HE 78
(00087, 0.0252)0]tt.

> # B g I FUAFA
> prop.test(15,1000)
1-sample proportions test with continuity correction
data: 15 out of 1000, null probability 0.5
X-squared = 938961, df = 1, p-value < 2.2e-16
alternative hypothesis: true p is not equal to 0.5
95 percent confidence interval:
0.008733248 0.025217456
sample estimates:

Y
0015

m 4= %

23158 &8 R FARKE AYASH tfEo] AFHE T ARTH0] TH2E o]Fo
Aok 8t $2le FANIAEA RE AHE 5 ok RS tighy HP4 & mar] gEd #$7)7}
HAHEE, BHolY sAZE 2P0 FET). £ RollA Y 2gFd2E ofF FEstn FAH 294
= 4A B8 £ Ak 7P 2 FHL2 RY AHgo] FEEe Aotk 2BE RY AHgd wE ALS
EY AZdRd st U Fort go oHe B FHE %2 JAE R 2-F-uFHu ¥E

2 AR FoA BF FANIIAZA FHAL dort Qgn E0. 25 158D FE 2 ¥4
AEANE FE Exceld AHEH 284 F4 719049 A5 EY A= SAS, SPSS, Minitab 5]
FFE o7 ATAEY AR EAAME SAS, SPSS, S-Plus §0| F2 20| 9lon}t Ro 51*““
2Hog A AARY Q71E 23 At & ABEYY YN E  Excelol TAHINA A8 A%

ZHAA Z¥de Aot W 2315w FE 2 FANS M el EE FAATNA
i"i Re wiethd 258 £ F digd] 7AAY AHgd JEME EE SAHIIA2A RE A%
AR T 7] dEA BAWAA ALY ASAolge FHANE AF AR 2-F-A5%A FE
2 FALE EE FANNIAZM RE AT AAAE A 2sior @ Adogtx Atsgd.
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Applications of R statistical package on Probability and
Statistics Education in Elementary, Middle and High School( I)

Jang, Dae-Heung
Division of Mathematical Sciences, Pukyong National University, Busan Korea, 608-737
E-mail: dhjang@pknu.ackr

We can use R package as a statistical package on the education of probability and statistics in elementary,
middle and high school mathematics. R is an interactive mode package and graphical presentation tools in R
are powerful. The greatest advantage is that R is a general public license package. We need to consider R
package as a standard statistical package on the education of probability and statistics in elementary, middle and

high school mathematics.
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